TRUE FALSE
Oliver comes from a large family.

The story was published in 1839.
Oliver was born in a workhouse.
Oliver is often treated with cruelty.
Life in the workhouse is beautiful.

DO AW N =

Charles Dickens is the protagonist of the story. |

The story takes place in the mid-19th century. It is about an .

who is born in a workhouse and is sold as toan
undertaker. Later, he escapes from him and arrives to .

Here he meets a member of a gang of young , led by
a famous elder criminal. This book was written by

and was published in 1839.



1. Why was Oliver Twist sold to the undertaker?
A. Because he is a bad kid
B. He asked for another portion of food
C. He had responded badly

2. Who is the writer of the story of “Oliver Twist”?
A. Charles Dickens
B. Mary Shelley
C. Lewis Carroll

3. Which of the following characters lovingly cared Oliver?
A. The undertaker
B. Pickpocket
C. Mr Brownlow

4. To what literary genre does the story belong?
A. Horror
B. Action
C. Drama

5. Oliver Twist was (piu di 1)
bad

onest

cruel

kind
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